he purpose of-

jttee was sel UP for t
from below:)
_centralization

ot Rai Mehta Comim
jafe option
for democralic de
of the village panchayals attl

The Balwa
(Choose the most appropr
(A) Suggesting easures
on the working

hat time
(B) Reporting

sting MEASUes ki lementation of the community developmey,
gesti

pificiency in the mp
(C) Sug ter y

prﬂjn!i;[ﬂ :
(D) Investing the adequate financial resourees of the village panchayat

i yuestion not attem fed
%aa;ﬁmﬂ%w%mﬂﬁmmﬂmﬁﬁm&r{ﬁnﬁﬁdﬁﬁﬂmmﬁmﬁ]
T i P & g 4 e

(B) mmmwﬁmﬁiﬂfﬁﬁﬁqﬁéﬂ%m

(©) wgafﬁﬁmmfmﬁmﬁaﬁammﬁmmaﬁwﬁ#m

(D) mﬂm#mﬁwﬁumﬁmﬁéﬂmﬁ%m

(Ey ST w

WhiL:h of the following parts is related to the Directive Principles of State Policy in Indian Constitution?
v i i S T o o 8 A ST ST R & wefere 87
(A) V (B) VI
(€ IV-A 77 v
(F) Question not attempted / ST T4
The words *Socialis :
i 4r;|: j:::l':::?& Secular’ were added to Ihe{i;;r:um:;ioflhﬂ [nfii?n Constitution by:
(C) 46" amendment —
(B} Question not attempted IR
T ¥ HiaEH i -
e uﬁmm 59Tz “Socialist” (RETSETED 31T “Secular” (entfirciven) Fa whwives o s me
© soeletiy (B) 44 af waing ‘
) 1E::Jn;§pf[ﬁ'ﬁ“ﬁ (D) 413 Hairay
st the mosy appr l

He said, “Don't way
&) He said g ug '

apriate reported fo
rm of the ¢
on snow, ILisn'y gafe " given sentence:




] Identify the grummnticai'lg,r mosi app

the options:

ropriate senience from

(A) Inaz week's ime 1 will have cnmp'ls:ted my work.

n a week's time 1 will be

: (Cy Ina week's time 1 wﬂle;sI

(D) Ina week's time | willsgpmplete my work.

(E) Question 0ot attemple

7 Choose the most appmprfnm[p“a&sivc

The meter reader _ gl fora burglar by the landlady-
(A) was mistook h (B) was mistaken
™ (D) mistook

7 has mistaken
() Question not atempted

8 'ﬂé’miﬁmwkﬂ

© =
(E) HAE |

9 mﬁﬁﬁmﬂ*m'mﬁqﬁﬁﬂiﬁa&wﬁ%—
(A) A — (B) =
(B) FAia ol

10 ﬁqﬁu‘@ﬂﬁ-mwmﬁm%
o ™3 o ®

i -~ (D) _EIh

(E) i WA "

11 Indira Gandhi canal is itua1ein which of the following regions of Rajasthan?

(A) Wesiem Desert plain
() gouth Enstem Region

(B)
o oy =

completed my work.

complete my work.

form of the word *Mistake' 10 complete the sent

fi

efrion (B)  Aravali Region
(D) Semi dry Region

(E) Question not attemp o

e T AR T 3 Foy i O st B <p

AR Sgiess o
C)

. D) =
) sEErEud E: : Aeih :
12 The moist deciduous forests geq not found in which of the followi o
owing regions of India?
—

(A) Northeastemn States

(B) Eastern slopes of the western ghats

<) Peninsular plateat D
(E) CQuestion not attemptedd (D)  Foothills of Himalayas o~
m%ﬁnﬁmﬁimﬁgﬂmmmwﬂﬁ <
(A) g o

™~
(©) T " % et a3 ot e <
(B) e 5 o , Teorery i e ™
9| # ' . ;
i

19170042 19170042 19170042

| PT.0



of Rajasthan”

m
: oldest mused
following is known 35 ¢ @) Alpert Hall

Which of the

13 :
(A) Amrapal Ol
(C) The Crysul Gallery
: s mpled 27
(E) Question not aREEE i 3 & S A ©
B gy BAEE =
et i @ ol 6 (B) e Biel
hf’ W m
} (D)
(© B
(E) S v £ lationship exists between
7 | | ! .- and the same relationship
14 There is certain relationship between the two terms [0 the Ie: o e
3 ) S, : » questio :
the two terms to ils right. Find which option would replace the que =5 e 3| qeATT I Ay
. w - F) =t j
::%a‘m’fﬁ&ﬁ%mﬁm?mﬁﬁmmmmﬁwmmﬁﬁmmgiH . Bl
a1 e &1 v wen .
324 :289 2 256: 7
(A) 200 /({]‘225
(€ 361 (D) 125
(E)  Question not attempted / iAW
15 E—'_n_u:l the number of triangles in the given figure:
e 8 vt 3 gl o) s s
AT 15
© 1 (B) 16
() Q‘ﬂ-l-‘llianmta @) 13
tI_E o
16 g el gt
o A.ci!'bz ;:ﬂ F' aresiting around 5 round tah]
WEUE a0d B g opee - ¢ "Cis not in ej i i '
:,S; -C;;‘D'.'E- P q;mand E;e;; OPPOSite 10 D", Wq ::,;m In cither of the neighbouring seat
" Posite of ‘F*
v B mim“‘"'ﬁ“n‘%ﬁmmm%a.C"'E'%Wﬁﬁl;;sﬂz T At A
LY ad] ¥ i
& b O H A g %
(E) 0“5“"‘“"01&;1,: ) &
17 Inamwnfchildmlq:?[?dim‘iﬁ ©) A
by three places toyy,, 15 fifip from
iﬁﬁmﬁ%ﬁ,m:%m? he bﬂ:;,m:: :::h Praveen g twelfth
?ﬁqwnﬁzwmt.ﬁ&:nﬂﬂﬂ&mqg from the 1ogy end, |y *Om the right end . If Praveen shif®
(A) 22 “‘*‘ﬁmw?mﬂmﬁ! " many children are there in the %
© 26 a“““ﬂiﬁﬁgﬁ meéluﬁmﬂﬂmﬁm
(E) - I ey
‘THT 24 aﬁi—?
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19

Choose the most appropriate statement from the following:

AX) A notice is distributed to the selected people in an organization.

(B)

(€)  *Yours respectfully’ is the appropriate subscription for an informal letter.,
(D)  The format of the date in an official letter is 01/04/24,
(E)  Question not attempted

A D.O letter is written by an authority to the employees of that organization.

Choose the mast appropriate word to complete the given sentence:

The boy crawled the fence to enter the garden.

A&7 out : (B) under

20

(D) above
(E)  Question not attempied
Choose the most appropriate word to complete the given sentence:

His ideas on the link between art and culture in Asia do not conform

the generally accepted
theories,

(A) into (B) with

1T 10 (D) within

(E}  Question not attempted

21 Choose the most appropriate English word for the given word:
SRR
(A} Abatement f(Bj-"‘ Abalishment
(C)  Apartment (D) Abetment
(E) Question not attempted
22 Choose the word closest in meaning to the underlined word from the given options:
During the course of the interview, she refused 1o answer the question that infringed on her personal life.
(A) ingested (B) Tn tuslcd
JC’T/ invaded (D} ingrained
| (E) Question not attempted w :
23 Choose the mosf appropriate word similar in meaning to NONCHALANT
insurrection
1 {A) insubstantial BT l""-‘-'l-'l'f":
riats (D) indifferent
{C) intimidating
(B} Question not atternpied - :
. [ the product formed is called reaction.
24 The reaction which is catalysed by the P i s
2 ks () reversible
(C) displacement
i (E) Question not attempied i % ~
ot ﬂmm A8,
| =, saffman o 300 = sifsifiar seer!
(A) e e e
(c) foream I
(E} ﬂgﬂf(ﬂ}ﬁf fn'ﬁﬂ‘-
5
Y| #




pydes 15

present in aldel

The funcl'f'“nl group (d m}wﬁ:
e q11 |
Jgr === o
0
I - D)y —OH
© —C—OH (
a0
(E) Question not attemipted / E LRl Sl’;i.
26 The JUPAC name of the given compound is:
CH; —f;"H — CHZ'CLH3
(A) I-Methylbutane 'Z (B) Pentane
JEr™ 3-Methylbutane (D) 2-Methylbutane

(E) Question not atlé‘mplcd
CH; — CH— CH O ficdt 7 P T TUPAC 919 &:

(&) 1-Trameeege : (B) S

©) 3T o D) 2-fiaseEr

(E) AT o
Rajasthan Value AddedFax Act was passed in which year?

tramnﬁﬁam%w@ﬂqﬁmmﬂmw

(A) 2006 ™ i
{C) 2010 3 BT (72007 lm;
(E)  Question not attefinied [ =i v = B ;’J‘-.
28 Where is Dhirubhai Ambani Saolar Pa
rk located? i
{A) Dhursar
(€ Kavai o (B)  Suratgarh ‘
(E) Question not mﬂmﬂ (D). Kot N
TS ST HIT T %q{ﬁuﬁh F_r:
(G st o ®) S
— P~
(F) s o () Szt i
29  Which of ng-if th . '_f_
iy ;.D 5: “tli;e"f'oll::wm:) :r:‘:eﬁur:i Major coal-based Thermal P, !
1ost app ion frg g OWer Plant in gajasthan?
(A)  Kota Thermal Pawer Plant T below:) '
(C) Kalisindh Therran Power Plap (B)  Suratgarh poyye Plant
(E)  Question not attempted (D) Chhabra Power Pl‘n:f
Fresferfia & & i 1 O 71 T o
(5751 5 et g P <) R, ©
AR e g wd 25
(C)  reifeiny am fordd et o, S frg e o
(E) safrayg ¢ ©) By forgge v i
T19 | # 6




30

31

32

33

34

Which site of copper culture was discovered at the source of river Kantali at Neem Ka Thana?

(A) Bagor (B) Ganeshwar

(€) " Ahat (D) Gilund

(E) Question not attempted

<fisy <1 ST 3 ATt i 3 e AT HEHt 1 EH AT e @i

(A) TR By T

(C) e (D) frege

(B) afwiea wa

Which of the following kings of Kamboj has created four scriptures of total 326 Paragraphs?

(A) Yashovarman (B) Rajvarman

(C) Jayvarman (D) Bahuvarman

(E) Question not attempted

Faerfrfiar i & sttt o6 fore o A et 326 STl o6 =T T Sl T T

(A) JOEEA By T

©) S (D) A

(E) 3w 9

Which temple is called ‘Mini Khajuraho® of Rajasthan?

(A) Temple of Kiradu (B) Rani Bhatiyani Temple

(C) Shree Nakodaji Temple (D) Ramgarh Bhand Devra Temple

(E) Question not attempted

e =T e AT R W e S 2
iy g i (B) TR Wi i

(C) i =rhreT ST A=t (D) TTE = AT AT

(E) i v _

How many true breeding pea plant varieties were used by Gregor Mendel for his experiment on artificial/

cross pollination?

mm%miﬁﬂmwﬁm%mm%uﬁaﬁm{mwﬁﬁmﬁ
AT ®) 14

© 10 (D) 8

(E) Question not attempted / I W

Select the camel breed known {o have excellent swimming capacity in seawater.
(A) Jalori (B) Kharai

(C) Mewari (D) Malvi

(E) Question not attempted
ﬁﬁiﬁmmﬂgﬁqﬁlﬁﬂgﬁwﬁ&ﬁ#mm AR

(A) el @y @i
() et (D) W
() SFare w4

| p.T.O.
Y| # 7
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ith *Beriberi’. Which of the g
ol

g and 15 diagnoscd W

! e wcakncs :
15 rs0n 15 hay g ‘-’)‘““Ilpc ':d lhrough cdicin und dﬂﬂ?l . 38
ciramins would upp @ Viemn C
(N \Fiiami‘n ol o Vv jtamin A
© Vitamin “ 1 -
n pl ! ’ S-a U
;; Question Lﬁej‘ﬂwzﬂmgwmﬂ Ffredl ﬂﬂmm?lﬁﬂﬁf@ﬂq.ﬂmm%
] i e ST : =
srEEA @ i el _
;1/ : ﬁrﬁm‘:i @ fErAd
a () s 4
. © fefad el
4 T : n
( 16 Who among the follo\vigg is the Advucnte Gencral of Rﬂjasthan ason 6 S.emcmh"“ 20247
¢ (A) JaiSingh Sharmay (8) Rajendrd Prasad Gupta 39
(©) Bhupendra Meu? (D) Jitender Gupta ()
¢ (E) Question not alt-e&pted (-
é Wﬁﬁﬁ@ﬁ%(ﬁ%ﬁz&mhﬂﬂﬁ? ™~
27 Re @ wafEm 3 gy TR . =
T (© SEERH v ) FREET *
(A, (E) i A
() 37  Givenbelow are two Stdtements: l
(E) : = : oy, 5
28 Wh same (e “Fhelit‘ = 'un.m & Pancfmyau Raj system, is Zila Parishad'af District council Z#
(A) is a ﬂ.tgemsmg authority regarding the execution of thé?lans and projects ol
(©) development and progress 3
(E) Statement (IT): The Zita Parishad (Distri S , r=
ek i & A ,ad (Dis‘tnct council) is organized by the direstglected membensfO®  4q
(A) In the I i e Zila Parishad. )
’(q/ ight of the above statements choose th
(E) (A) Both Statement () and State;n t (1) e most appropriate a0SWEY fE,{n he options gt
) ent (II) are incorrect.
29 Which (B) Statement (1) lgﬂmcl but Statement (1) is i
(Choos (C)  Statement (T) is incorrect but is incorrect. Y|
(A) t (D) Both Statemerit{t) and § tatement (IT) is correct. - <
(C) K (E) Questi » tatement (IT) are correc -
ion not a L.
(E Eiet ‘E‘mmed o
Fretfesfi g o 42
o B T i -
& : qftg Pl 4
o o - (1) : e SR et 3 3"%&3“3%&@%'&"'““&“
E o (Fefge wmifeen F gt STEET 1t ¢l '
T19 g, £ MP ZTr ) i i e 3 a3 e g .m{aﬁ‘
I # i ﬁﬁ\’a;m gl
(A
) FE(D mm frreain g Hathe ! |
(E (1)1 @ g yVod L S 0™
T ) spraaa BN A ot () T Tl 19
] 4 " (©) mmwwwuﬂ*
(o)
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i i

il Parishad

of the rurl
rom regionil

n below:

(Bl

Arange the nomes of Governors
W ! s OF Rijasthon in the ¢ < .
shri Raghukul TitW 1 the chronological order
b, § g o Pras
; Dr. Sampumanan® Shiri Sukh Dev Prasad
cxart A CTTATTET % £ d Dr, M. Chenna Reddy
SIERD G o s
u ) ITT “ "'r“'ﬁ'l:f-{'[-i, F#HH f?TrI'f'ﬁjd ;h] {
ol e foreres ( :
! b, o e T
o mampie - AR LM
. d, i, FemEdt |
( 1‘_‘“""" 1'"'{"”"‘_"J'.‘J'I""Pf'mh- unswer from the options given below: !
FILACLRIEALC I R R nu}fumm.m -,I‘q
b, c,a,d
(A)) Pl By ¢ bda
© enbd AN P78, b6, d .
() Question not attermpted / '}F!ﬂir(] |
39 Red blood cells of whichiof the following blood groups contains both A and'Bantigens?
3 = 5 5, = - p L &
f it A1 e e e eTrer T Ay A war B AR st (S o T &7
(A) B . ] AB
(cy © (D) A
(E)  Question not attempled / 31l wa :
40 A person with blood mtibody I3 can recieve blood from the blood group of:
(A) BorOonly () A orBorAB or & only
(Cy Oonly ) (D) AorOonly
(B} Question not attempted '
s s Fareds 16 1 B sifercaft &, fort s HEE 1 TRV % Tl &7 i
(A) TEEBATO (B) FAe AFB AABTO
(€) WHaSAO ; py” FAATO
(E) Staic W
41  Which one of the following is the State tree of Rajasthan? A
(A} Khejn i (B) Rohida
(Cy Saal II. (D) ~Deodar :r
(E) Question nol ;mcplptcd i
e 3 & Pt T 1 T A BT ,
(T 9) ap . o)
() @l \ ® :
(£) FFaitawd o ol
42 Spirulingis o good soure§os -t
: oo , (B) * Carbohydrate &
(A) Vitamin € ) _
, — (D) Fal
(C) Protein - ;
(E) Question not atltcl;"la“""] -
sl e w0 B ]
" e C : () ¥E8 % -
T ™
b (D) T
o N
(E) :ﬂgﬂfta A
9
T19) # | P.T.O.




48

A solid right circular cylinder has height 17 cm and its radius is 8 cm. The cylinder is cut in three e
(by 2 cuts parallel to base). What is the percentage increase in total surface .'-II'c;t'.’ |
T 3 T T AT ol SeTg 17 T U Brsar 8 At B 79 ael &1 ol SIS W (36 ST &
%2) H 1T T et YU &Eher 3 i 1 wiawra 1 &2

(A)  68% (B)  79%

(C) 64% (D) 50%

(E)  Question not attempted / Jﬂ?ff'?i e

49 Where is the Instituteiqf Development Studies situated?
(A) Bhilwara (B) Jaipur
(€) Mount Abu (D) Udaipur
(E) Question not attempted
ferehmer reae g el ot e @2
(A) feEreT B TR
(C) WIS AT (D) 3EaqT
(B) 3afa w4
50 Where is the Centraldnstitute of Arid Horticulture located?
(A) Jalore (B) Bikaner
(C) - Shriganganagai (D) Chitorgarh
(E). Question not attempted
FERT e AT SR FEl T fezra 82
@ e
(C) AT ' (B) $
(E) Adia 94 . . Raiasihan
51  Where is National Instjtute of Fashion Technology situated in-Rajasthan:
X (B) Jaipur
(A) Udaipur :
. (D) Jodhpur
(C) Kota
(E) Question not attempted o =f oo 89
ey 7 o SIEAT H e G
T S Sraniiieh] HE2 B S
b Akt (D) S
(C) =hiaT
| - s <shown i ['!:errl
53 SE) ﬂﬁfﬁlg‘ﬂ . at an angle of incidence 15% on d plane mirror (15 hown in 11
2 A ray of light is inciglent at o 3 ey T &) < X W
The value of X is: td | 50 3 ST ?«‘;TUTIH-':TI"IF:THFE] sirel & (Srarfer e H I
yrepTaT =hy e feRoT e 40 L
HIH B1T: -
Normal
|
|

52

I — :
| . z’[f?(’ 73
) . (D 45 rll_l'.”
(A) 65° -
(C R5° Lraerfer WAl
ll-: Question pot attempted / = 1
Tig | #




s than the number

ive stage is 15

Select the status of IT{.)hu ®) Declining
i reproductive SIAEE: D) Expanding
) Sl i each other {3 FH AL
(€) Stagespot affecting each OH¢ aréﬂlﬁﬂ. i ﬁzﬁi@fuﬁ?aﬁ Feel
stion not attempted p o el
(E) Questt = R
e 3 feafa ' @) o
(A) i 2l {D} q
(;c»y” mawmﬁiﬁa”"" LR
(B) FANE A cology’ in India? .
54 Who is considered 3 the father of “ECOIOE) (B) Panchanan Maheshwarl
(A) Ramdcln Misra (D) C.V. Raman
(C) Lalji Singh
Xt attempted
() Moueainut BELES 3 & &g 7 ford ST Sl &7
ﬁqﬁfﬁaﬂ/ ~faft'qﬂfhrt & S ! P
MR <t ft, o
() e fiE L)
(E) Huia ¥F
55  Which among the following is produced by a fungus? Fs,
(A) Butyricacid (B) Acetic acid
(C) Lactic acid (D) Citric acid
(E) Question not attempted
Forey 3 @ 11 U A 21 It Bl 87
i SeRm (B)  ufifes s
(OFsEzle O) fafzmena
() Fafawa
Read the passage carefully and answer questions that foll .
7 ow by choo 3
(Q. No. 56 to 60) Y sing the correct option:
While working in the establishments of § e
; pace Defense Research and Atomi d that
the best human beings and the most innovative minds were I?mlc Energy, Dr. Kalam foun i
also found in all the scientists and technologists: {he present here, in plenty. One common feature ¥
1 . . . N e e
failures contained within themselVes the seeds f_o%ugﬁg?“_l_ﬂff_ﬂg of ! fﬂil__lil':tzs;(_ﬂuring their pursuits pecaust
eventually to high level of success er [€aming, which could lead E(; be technology an
spectacular achievements, Ta‘dﬂ: Ezzc Pmp}e Were great dreamers and their dreams ﬁ::lrl culminat .
institutions, it would certainly be unt of the combineq technological Y i
Regarding pe ¥ be comparable (0 the begt found i gical strength of all these 5¢
o’ Ep drsonal freedom, Kalam is sajq 1 have ad ound in the developed world
5 0wn educat; . adopt : . o
possesses, the freEn;: s knowledge i the mo::-,: ;,l lW.D techniques to strengthen it. First, bY bulldin
5 €i1s. A le recious ¢ Jidop O
happening around him. To 1 a‘dcr can only be free ¢ T tool; the more up-to-date knowleds,;h e
a . 151N ¢ i f
#pasion or persol responsiyfy, s M COntinu s tsam, if he keeps abreast of & g
1 P . Y
I you do not, you woulg pe 1Y Way of taking g "€ education. The second ways IS i)
Greece, “When the freedo srrendeting your fyyq to esponsibility 1o work for the things YOU bel ﬂc‘cm
free and was neyer free Bm _1hcy wished for mogy i Others. Historian Edith Hamilton wrote © anc! i
a . ;
freedom. We can wmbalfh::n‘f—rh‘. truth is that there il::dom i Tesponsibility, then Athens cease loaur
and conditions orees that (hye, great de ' : L5
ns that promote individual f; el Oppress |, al that most of us can do 10 i° Lalit®
T19 ] # Ieedom 8. We can fonlfy ourselves with the 4

12 : p.'f-o'
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He has a scientific temper blended with

Dr, Kalam 18 ncilﬁcr an orthodox nor 8 uons;lcrv.::tivcdre‘ligltiz;f;; e il s Iy o
spirituality. Drawing an analogy between m?m.:uc and spir y b B e s il

sestioning, spirituality is based on known principles; both of them lf:ad one to seek ¢ :
:lillcd with humanism and loved and renowned by the entire nation, w:th‘{Jm any barriers of ageand Comum?;i
windia must stand up to the world because 1 believe that unless India stands up 10 Lbe v_mrld. no omlt wi
respect us. Only strength respects strength.” So said Dr. Abdul Kalam, the nucleanf scTcm:st w}w.de»c oped
and structured India’s missile arsenal. He belongs to the world of nuclear weaponisation and has supported
the nuclearisation of India consistently.

According to Dr, Kalam, the element that was cumw the scientists and technologists was:
)

(A) They had spectacular achievements They were not afraid of failure
(C) They were great dreamers (D) They were best in the world
(E) Question not attempted

According to Dr. Kalam, personal freedom can be achieved only when

. You empower yourself with knowledge

b.  You free yourself from all responsibility

c. You develop a passion for personal responsibility.

d, You develop courage to be responsible for the work you believe in

Choose the most appropriate answer from the options given below:

(A) b, canddonly (B) b,dandaonly

,Lf)i/ i, ¢ und d only (D) a,bandconly

(B} Question not attempted
Dr, K/njium supported nuclearisaion of India as he strongly believed that:
/(,M" Unless India stands up to the world, no one will respect us
(B) Knowledge is the most precious tool
(C) There s a great deal that most of us can do to increase our fréeedom
(D)  We ¢an combat the forces that threaten to oppress us
(By  Question not attempted
Dr. Kalam draws an analogy between science and spirituality according to which
n, Sclence |s based on questioning whereas spirituality is based on established principles
b, Both are arrived at by not questioning
(B Both lead one Lo seek truth
d Both are habits
Choose the most appropriate snswer from the options given below:
(A) nd ¢ only (B) candd only

a and ¢ only (D) aandbonly
(B)  Question not attempted

Mateh Listl with List-Il
List=1 List-11

n, Conservalive L Using new ideas

b. Arsenal I.  To feel stronger

¢ Innovative IlI, A collection of weapons

d Fortify IV. Opposed to sudden social change
Choogs the most approprlate answer from the options given below:

asIV, b=l c-ld=Il (B) a-ILb-1V,c-11Ld-1
(€) a=lbeIV,e-1,d-1 (D) a-MLb-TMec-Ld-TV

(B)  Question not attempted
1 p.T.0-
T #_ 13
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62

63

64

TI9) #

j ..nal Project for i rigation?
penefitted by Gurgaon Canal | roject for IrMES

which of the following regions of Rajasthan 18 !
(B) Kola

(D) Bharatpurt

(A) JmptE
(C) Jodhpir
: uestion not attem ted . i e
\r]r;%m? 3 bt o e e A 4 T o ST B <7
(A) SR (B) e
(€) SUE /‘1}'/ gt
() 3Fmie ¥
What is ‘DIGGI" construction?
(A) A technique of Hand Loom
(B) Operation for restoring surplus water for field crops and :tgricuitur;ﬂ activities in canal command area
(C) Construction of pipeline for irrigation
(D)  Anew agriculture method
(E)  Quesiion not attempted
+fgnft Fraior g &7
(A) Ut ) O AT
A T 0 et S ffafiet 2 e S STt Qg s 1 S
(©) ferebas o oreweiree o1 o
(D) e T 78 Taid
(E) /=eita 54

Which is 1 .5 1c Se 1
h:‘: oldest | lll\]lL SeCtlor ur L!L!l"l:lklng of R‘.Iiil.‘itll&lﬂ. ‘Lll 5
i | | 100s¢ the most ﬂp.(}.l Gplfﬂ“,' 'DPI--IE)“ ﬁc .

(A) Rajasthan State Ganganagar Sugar Mills Limited

(B) Rajasthan Drugs and Pharmaceuticals Ltd

. oo : . Jdin L,
(C) Rajasthan Electronics and Instruments Ltd
(D) Hindustan Salts Lid, e
(E)

Question not attlempted
TR FTHER [HT W o
ﬁquumrﬁmi‘a?ﬁwﬁ-}ngmmmm

: AT TR R firey fafirde
(C) AT et g -

i) 3 (B) Us=IH g i Tt i
(E) saftduy R el (D) mﬁ wierw ffirs :
The Girst satell; 3 ‘
1e first satglite launched by India int ’
(A)  Aryabhau 110 Space was:
alta as:
C) 1IRS|
(BYy C f\ ®) Chll!‘ldm}.a.m 1
4 )lIUSHU[l nog attempted “)l N A=
T BT = Y : AL
SR T WS Ty ey :
,lz‘ﬁ/-' g Tl 39 o
(C) :ﬂ'l'é H T
LUH (RS
i (IRS)- 1A (B) A
) IfE g e
®) ey i
VRS (INSAT)- 1 A
14

[ p.T.0:




(& Thl: |
nereds

g

(A) Hypermetropia or farsightedness

(C) Astigmal ism

(E) Question not attempted

east distance of distinct vision (or the near point) for normal eye is taken as =

ases to 50 cm for an elderly person. If the person tries to read a book at abou
ases

75 cm. This distance

t 25 ¢m from the €y&, the

o¢ appears blurred. This defect of the vision of eye is called:

(B) Myopia or nearsightedness

{D) Presbyopia

A T o Tt ¥ 27 it =pem =t (e fifg) 25 it oft st 1 0 9 =R % fere 78 70 739 50
mﬁmaﬁﬁﬁlﬂﬁwﬁ-m:nﬁtﬁ?ﬂa‘wv}ﬂmmtWﬁﬂfﬁi’qalq"ﬂmmg'hm

7% 3 AT FHETd] 8
(A) ETSTCZIAT AT ZXgfE Ay
(€) femfesn a1 sfgwa
(E) @fmua

(B) wiftar a1 e gfe are
By e T 41 e

66  Who introduced the final draft of the Constitution?

(A) N Gopalpswamy Ayyangar
(C) Alladi Krishnaswamy Ayyar
(E) Question not attempted

(B) Dr. B.R. Ambedkar
(D) Dr. K.M. Munshi

| i sifaw w9wE () formss g & mh o

(A) TF TR 3ETR
(C) =TTl FWmETHT 3T

(E) ufa sy

By 1. 1. 3R g

(D) =T %. . Hyft

67  Which Fundamental Right was deleted from the list by the 44™ Amendment Act, 197872

(A) Right to property

(C) /Cultural and educational rights

(E) / Question not atiempted

44 3 wviTes s, 1978 % g et 3 9 @ & i syt =)

AT BT T AT
(C) witfae si Srerfire sifirm
(E) it o=
68 giw we= Fy afy - fa=e Fifom
(A) gr?ﬁ'ﬁ
(C) HH+3
(E) o7wita 94
69 ‘emiend: i g -
(A) oo
(C) =ama
(E) e w1
70 ’ET'&W%L
AT e
(C) sperdfvma
(E) :ﬂiﬂhﬂw
T19 | #

(B) _Rightto freedom
(D) = Right against exploitation

o=l & =T o w9
(B)  ==aan i s1firesm
(D) =T & forsg sfrem

A5

q +3fm
(D) H+3fF

BT

(D) H=rihyeg
(B) 1=

() e
15

| P-T.O.




N
’ b
7 ‘Fﬂﬂh‘&ﬂﬁmmﬁ ® v 9
() - r..
"
E s
[\ Jnaajuzﬂdu a piece of work in 45 days and 40 days respegtiyely. They began to work fogether but A
T2 Al »
lua\-'c;.;jﬂcr ‘m’ days and B finished the rest of the work in (m *33) days.
The y#lue of m 18: _
(A) 43 days E) .00
(C) 17 days D) 2 dam
(B) c@ucs‘n’on not attempted ) v -
A Sives Pt s =t e 45 At it 40 AT H Qo A B F1 U 1 & AT A, ‘m’ BT F
aTE il BT 241 & 3T B I 1 # (m +I4]ﬁ1}qw3ﬂ%ﬂ'f% m &I HT &
(A) E_ fom (B) 5 Rt
© 7% 2y 9fFN
(E) effgara v r~ 7t
73 One wéming just after sunrise, Ankit was standing facing a pole. The shadow of the pole vwas formed on the
left side of Ankit. Which direction was Ankit facing? &N
(A) CWest (B) No i
(© Bouth (D) Eastesy
(E) E?ucstinn not attempted [~
SR S St e vt o g e 5 i 35 e v oy e
o o i s v w0 o
(A) Chfirg -
=5 i (D) 9d o 79
74 1157 ¥ebruary 2018 was Th
(A) gridny Y, what was the day on Igulapr” 2019 9
(C) gSunday (B)  Satudddy
(E) [uestion not attempted (D) Th“"gﬁ'ﬂy
g 15 %= ‘
zumiﬁwm-ﬁhgm’ &
(A) -0l9_a$|c‘:ﬁh_mﬁq-%
®) wfar
(E) (\"“’f‘ﬁﬂﬂﬁ (D) ‘{B.—a-rN
75 WhiHiblace of Sijar i .
S ris famoys for ; b
(A) Cimh £0a industry g o 8o
©) dela o
B) N
E .
(E) rﬁ‘“ﬂ&hon not a“emptl:d [D) cCI‘M
(®) PR o o '
Wia ~ 1
®)  Fefn g ®) oz £
9| # (D) qz

(]




Choose the most appropriate English translation of the given sentence

.

erferat FerTeT 3T Rl

(A) Fauliscan’t be easlly found (B) It has been easy to find faults

(C) It's very easy to find faults /(-“’/ It’s easy to find faults
(E) Question not attempted

76

77 A sum of money amoumts to T 6,690 afier 3 years and to ¥ 10,035 after 6 years on compound interest.

Find the sum.

T ST SRR AT & ot 79T F A2 X 6,690 U 6 97 35 e 10,035 &1 ATt &, T qeT <77 11721 37 4

,V:r/u,mn (B) T4,900

(C) T5,000 (D) T4400
(E)  Question not attempted ST 94

78 The price of a gold-biscilit is directly proportional to the square of its weight. A person broke down the
gold-biscuit in the ratio of 3:2 : 1 in terms ofits weight and faced a loss of 7 4.840. Find the initial price of
gold-biscuit,
m‘#m&wﬁﬁmm?mi?:nxwﬂwaﬁmm?hrﬂﬂ 3 1 2 £15 19T | drgar
eI R R ae 2 480 Frf s @ e #ﬁ#fﬁgﬁmaﬁrmﬂﬁﬁl

(A) 7200 (B) 7920
(C)y T 8,000 (DY 27,000
(E)  Question not attempted / ﬂ’-_!ﬁfi.?‘rﬂ"’.l

79  The percentage profit earned by selling anarticle for 7 1990 is equal to the percentage loss by sélling the

same article for T 1,280 t what price should the article be sold 10 make & profit of 3049
Fereliiars 1 1,920 8 3= e aafSfa = BT S ae 1,280 9 357 a7 z1fy

F1 50 fma v =t ame e 30 @ v E

’?‘
(A) 21,900 : ’,t.tﬂ/ez,usu

(C) ¥3,500 (D) 72000

= 9faarg UF 999 21 sma

(E)  Question not attempted / ST T4

80 Meja dam has been built 8n which of the following rivers of Rajasthan 7
(A) Kothari (B) Javaj
(C) Mahi (D)  Parvay

(E) Question not ;ulcmpwd
ﬁmﬁqﬁgaﬁﬁ!mmaﬁr%meﬁmﬂmﬂmwa?
w7 Frardt (B) o
(C) o (D)  orEH
: (E) arafta ug
.Il)l # 17 [I‘.'l'.“.




V /4

81

Select the mos! incorreet * i
[ sps MOTre galimty:

aboul desert goil.

ik and karonda are cnnsidcrcd excellent for the imprtwcnwnt of desert soil.

1 i found 10 castern Rajasthan.

goil 18 di-_iplucud by wind.

(E) Question not atempted N
e T & 3 gl TS A El
N £yl A L
®) * A T I T an“agwﬂwmmﬁi
oy wEIT A SR 3 ey e €
(D) e i 3 T v 21 STl &l
(F) S %A
gz In Rajmaih:m.Ta\c‘n‘nnwcr wildlife sanctuary igsituated at ___——
(A) Churu (B) Sirohi
(C) Jaipur (D) Bundi

(B) Question not attempted

mmﬁmw?aﬁﬁ AT ______,ﬁ fraa &7

-

il o
D ©) @
€) IR :

83 / Choose the ;
e the mostappropriate one-word substitution of the given sentence:

A portable ca A
p se for holding papers, drawings, documents €1C

(A) pnn'l'o'li(\ .J(B.l/
wardrobe

(C) briclcase J
(D) rack

(E) Question not attempted

C“JUU\\ the m pl"l ! ate \;\-‘{]Tll ]l'lli“ < - z "l
3 ¢ most appropriat 1
=t} 1§ P W B np osit .
: POSILE 1N meamng to the

Disparage )
given word:

(A) _Detraction

)"'/ Annle
pplaud (B) Comfort

(E) Questio D
SUOn T omp
10t attempted (D) Derogatory

Which of the followi
: following is thy
(A) Mini 3 I1E most appropri k
1mum 1 Character, Maximum grm'“ for the name of Excel sheet?
1 Chara 2] sheet?
aracier

(B) Minimu
: im 2 Charac
(Cy  Minimur 1'1"“‘*?&.1.;;_“““““‘ 19 C
m 2 Character, Maxim Character
um 27 Cy
\

Dy Min
i :
m | Character, Maxin Aracier
(" AT ?-1 (

li‘. ] {) u‘:‘\lll.u

Frefeafiers 1 I:‘:;: 35 '“_Dlud haracter

(A) =fTH | :,.,1:. Tﬁwm?}?m%
T = 2 » S 31 Aol Fr ey

By 28, sy G #)

) At g 1R 27 T (®) o
[ 2 stfusay
3 19 =0t

9\ ”
i %) e | Ao, st 21 a




move from One slide to the next during on-screen

1 a special effect is called that occur when you

entation? (Choogeghe most appropriate option from below)
Effect - (B) Custom Animation (:;
Present Animbiion (D) Slide Transition (=)
| Question not ﬁmpted o
sy 35 A ﬁ@ﬂm#mimﬁaﬁﬁhﬁﬁmaﬁwﬁﬁ?h
et @ ) I
\) TR - (B) A AT o
oy ke AT @y wE A 2
gy SEANE
pe is the ! cut key that hides the selected columns in Excel. (% |
 widmwe mﬁﬁwﬁnmﬁwm <
Alt+H o B) F O
(@) Shift+F10 E

€ Cul+0 (Zerd)™

(F) Question not Kttbmpted /
statement 18
{= All the lines of the paragra

oA
NOT true about the different type
gh will be aligned to
h will be aligned including on the right

-
Which of the follow s of MS Word ;\Iig:;ncms‘?
the center —

(A) Center Alignmen

By Right Alignmgpi- All the lines of the paragrap
() Justify- The n@i left side of the paragraph will be aligned including the last line. &N
(Dy Left Alignmentspll the lines of the paragraph will be aligned on the left -
() Question not qpmpted bt
mﬁﬂmmmﬁﬂw%@mﬂwﬁh%ﬁﬁmzﬁtu =
() mmﬂﬂmﬂﬁmﬁm#ﬁﬁﬁﬁﬁﬂﬁ'ﬁ :
@) et e £y e 2 S it s
ﬁ”'wﬂwﬂ-qﬂt et T0F ctcarmttﬁﬁﬂzﬁvﬁﬁﬁ et dRr s afEfea s el
D) wﬂmrﬁh-ngmﬂmﬂmﬁam S dfererg BT
() wefa s N ; ™
8 Who imposed Chanydiri tax on the farmers of Bijolia in 19037 s
(A) Jugirdar Prith (B) ~Sadhu Sitaram Das )
(Cy Maharans Fa Singh (D) Rao Krishna Singh e
() Question not gitgmpted i
Wlﬂt.ﬁ'mmﬂﬂdﬁﬂwwm —
Dy e qud 4 (B)  Ee T o
(©) oo e fe oy T o e -
. {\tul\ e v N N
h\]u was the 1—!"5'- Governor of Rajasthan? (Choose the most appropriate option from belew)
& :*ﬁmw Sawpi Man Singh ®) Shri Gurumukh Nihal Singh. €3
® Q“ Hem Bahagur Singh (D)  Shri Kalraj Mishra =
wf%\wn not memd . ™~
(&) ;ﬁmm%ﬁqﬁﬁmwwﬁﬁ ;
© *hﬂ?gm ey At e e e -4
® sefews (D) it e A
| PT.O-

[o-

Ty
\ #



e ﬁf@ﬁﬁﬁﬁgmﬁgwqﬁ%—

b. Al
a. I d. W
C. T '
geeidan
: = oo [- i 1 L) W _Yjﬁrrn .' -
e forg e et H W A U IR Y &) Facatd
(A) éraﬂhamc /m N aa}f‘ﬂ'e
(C) Faaib,cHd et
UE} mﬁfmw Tas
¥ 9% 36 ST o foIg, Ueh 9158 e
-Jlj;r B IIG] (D) &HA 4
(E) FHia oA AN y
93  Which country will host the FIFA Women's World Cup in 20277 .
(A) Brazil (B) Australia
(Cy South Africa (D) India

(E) Question not attempted

R W T =, 2027 = BTt T 3T ]
(A) TEiE

(B) AEfaAm
(O =fam 3k (D) ™ma
(B) EEws
94 T=Tian ¥ v fofiaa o & »
(A) g8 & e spwend ) B SO HiE e 2
(©) /= 3 e 2 (D) H ] AT SET 21
(E)  Swit usy
95 m?WﬁWdEFTWQFThn
wmmﬂ"\'ﬁm?w
(A) #ﬁnq-—'q{m—q-ﬁjﬁ p ;
<y Wﬁ-‘-ﬁﬁrx?]:ﬁq—,rq_, (B) U“a;k =
)  sien o Dy~ ST T FT A fren
96 Lmupmmmr} = T
“‘Rﬂﬂfw
A W‘Eﬂ?“ﬁ“%)
ti: m‘funv (B) =fsia
97 B L))
"T?@H‘Hﬁg;mjﬁm.
R’ Fom 3 8- Ioz
c ey
e wam b, HTHt
14 feyy M P d, i
"‘"qr{n—ﬁ ar inkd
E:m n-u.um s “T""‘!‘rn_.-{.".
) o, }
LR e
B)  mton ,, ~
oy o4 (TW"“"“"
) et g, bafitg
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o T st a1 e 37 -
Ly e e T
() FIORETLAS]
(E) a-]'iﬂﬁfﬂ‘:l’ﬂ

99 Which City Was the venue for the

(A)
(C)

Mumbai, India

New Delhi,

India

(E) Question not attempted

217 2 e ¥ i ST (AYUSH)

(A)

s, W

4L3T/ it o=, v

(E)

ST W

100 Dadu Dayal wasbomat

(A)
(C)
(E)

Bikaner

Ahmedabad

Question not attempted

(A)

A~

(E)
101
(A)
(B)
1C)
(D)
(E)

N
SEHEEE |

RG]

international AYUSH Confe

() HTIAT
(D) Hﬁqﬁ'ﬂﬂﬂwm

(B) Dubai, UAE
(D) London, UK

HeTer A WeaT 2024 g% 417

®) ZE70E
(D) e, g

(B) Kota
(D) Nagaur

(B) hlerH
(D) ATITH

The most appropriate statement about thalassemia is:

Thalassemia patients are able to manufacture normal haemoglobin,

Thalassemia is caused due to defect in RBC producing genes.

Thalassemia patient requires frequent blood transfusion in order to survive
Thalassemia gene is present on Y chromosome.
Question not attempted

it A i w37 Hu 1 T R

(A) el g Asefam s H wEE e )

By SR (RBC) 3w 21 31t i H 172 894 3 hroor Aty dyy s &
(C)  eeiferan vt =61 Sfifera et o fore, A0TSR 31y ) G
\?} ﬁﬁéﬁml‘i‘n\’ﬂmﬁmmuﬁﬁrmal
LE)

[}

The genes

S U

(A) X- chromosomes
() Mitochondrial DNA
i.l-.y_ Question not aie mpled
T F A w2 feug 7 )
(A) x. LS =t | e
L7 e

=IISATS ¥ g
LE) Aqafa gy BN

2]

associnted with colour blindness are located on

[ _,
(B) ¥y. (‘hrumosomcs
(D) Autosomes

(B)

(D) :g,.:g

rence and Exhibition 20247
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In the following reactions =

ﬁc{%‘:ﬁaﬁmﬁﬁ‘aﬁm@tﬁﬁ- ’ | i
0 0 ———"‘2*:‘0\ (i1) Pﬂ: +3”21———-' ] 3
Ny R
) PR s IR (iv)
(i) Np+Orv=2NO

104

106

107

- =1
Which reactions Oceur in presence of catalyst’

mmmﬁmﬁmr

| 8
(AY () and/q41 14\-1
(€C) (1), () and/T4l (ii1)

_BY” (i) and/aT (ii)

(D) (i) and/e9T (iii)
(E) Question notattempted / ZFF{‘J]F'Il o 94
Alkaline KMnOy4 + Heal
CH,CH,OH =t ———> CH,COOH
In the above reaction,alkaline KMnO, acts as a
(A) oxidising agenh (B) Catalyst
(C) dehydrating agent (D) reducing agent .
(E) Question notattempted
i iy : _!
CHCH,OH —T0 T 505 CHLCOOH .
FRIT AT S SRE KMnO, ¥ w8 F1 w2
(A)  HTHE FHH BT IR
) T T D) Al
(E) SERAWA (4 TSI
Which of the followiflg pair will give displacement reaction? g
(A)  AgNO; solufioh and copper metal 7
(C)

NaCl solutioh-dnd copper metal
(E) " Question nnIIallumpied

(B) ~ CuSO, solution and .‘{Ii:-'er metal
Frafifien & & F rmrse frems

(D) | FeSO, solution and copper metal
T

- o
ST st 2
(A)  AgNO, frems (@) : .
o g.ﬁmm_ (B) " CuSO, e st s H(Ferm
8 s AL 4B Feso, frea ol
(E) st FeSO, R ATH (F )
Aquaregia is a t'n:‘_gll-;]y renire, : < 'mao
res eua..l .1 P URTO Iz of Concentrated HN " :
— S i ‘ NO; and concentrated HCI in the ratio ©
didy s 3T HZHCL %1z, 6 = -
2 : L ey 3 -
Ay 2.3 : | ( )
<y 3. 2 | -—('Bj =,
(E) " Question r'.‘ll e r
A set of ‘sll;‘P b}'n::t ~embed e ®) 1:3 ™
“HYSIep procedureg
l.b.‘| Shvace l'T ures for ﬂccnmphsh'm
©) Aigorithy,

(E)

Eatask g known ag N
o . B — .
. '(.ltnu:uun nm: )“Uplc_ d (([)) Hardware Program o
U\.| T:F:);{': ﬂ?hwm ) Firmware Program E:
i o D s X ~
(E) - (o) T 1 gy &
Afra gy -’ (1) Wi 4 l
) 4 ) %ﬁm B
~
22

112




] of

108 Which of the following p

109 Which of the following

air is NOT correct about the keyboard keys?
(Choose the maost appropriate option from below)
(A) Command Key - Caps Lock

(B)  Punctuation Key - (;) Semicolon
(C) Navigation Key - Page Up (D) Control Key - Tab
(E)  Question not attempted
At e gt
(A) FHFE & - Caps Lock (B) mﬁ_ﬂ:{ﬁ - (1) Semicolon
(C) AFAH (e i - Page Up Dy HI i - Tab
(E) 3w wx

IS open command in MS office?
kﬁ!ﬁ%ﬁﬁﬁéﬁ@maﬁ&qﬁaﬁwmé‘?
) Curl+0

(B} Alt+0
(€) Shift+0

(D) Tab+0
(E)  Question not attempted / STqaRT g
0 Pty ﬁ&rﬂ’lqﬁre}ia?rnﬁgmq—ﬁ‘?%-
(A) =g - o (B) -y
LT 53T - v (D) ¥eT% - qiiay
(E)  wfte wy
M T & shrerarers srepy 72 2.
(A) F= 8]
©) e (D) i@
(E) 3]31'{&—.—11;[34
Iy

* When ajr in

between the plates of a capacitor is replaced by

mica of dielectric constant 4, jis capacity -

(A)  redyces to 1w (B)  becomes 4 times
©)  becomes o times (D)  remains unaffected
(E) Question oy attempted
mmﬁw¢m;ﬁmmmiﬁmﬂmﬂqﬁmﬁnmﬁmm}ﬁ G 6t efiay
(A) :L_';'.."[C-‘Ti]rﬁ ABT 47T Bt Sy
9 2w Ersmng (D) orafeafd gt
(€) AT Wy
o is known as the father of the Indian SPace programme?
I:: Er- :f‘kmi J'Jhiuigw Bhabha (B) Dr Satish Dhawan

T Vikram g, i
) Question ey 4::::;;(1 Pl s
tres
by o v e o &

"frrma—f-frh,m




Suratgarh and Ganganagar?

i in the areas of Churt, Jhunjhunu, Hanu mangarh,
Mhich dialect 1S spaken |

(Choose the most apj‘lrnpn'ate option from below:) s " Sy
(A) Mewar ~ :
(C) Marwari (D) Malvi i
l:;;aﬁﬁ?‘mﬁ;m; st o e (e v )
(C) wREE (RO
(E) Suid ¥4

5 What is the reason-for the popularity of Allah Jilai Bai?
{A) Mand Singing (B)/ Kurja Singing

(C) Playing instrument (D) Dance
(E) Question not ﬁncmpu:d
ST Faes T L ST oh R R
Ak W TR (B) it A
(C) T T TIHI (D) =M T
(E) oA A i
116 Who founded Kamac:_lla Panth? oy
(A) Mallinathji & (B) _ Harbuiji i
© Ty § (D) Ramdevji
(E) Question nt;ii %uc mpted ™
Frteat g =t T e o Pt
(A) wieeRmash = —
(C) s . | ®) wLH {
®) sy ) Dy~ T S .-l',
117 :

Which one of the t‘oﬁ nng Indi
¥ - owing Indian Paralympian has won two gold medals i ics 20247
00s¢ the most a;_v_jJrOprime option from i ‘”1| i 2

y ! hElUW]
n\-} Nishad Kumag 3.
1C) Devendra Jhanjharia (B) Yogesh Kaluri?___‘
: . _ _ -4
(E)  Question nof attempted (D)  Manish Nﬂrwa‘f
Tt & % | ‘
H AT rfe s 2 vl
N2 ? (i 3 i e 3w el S
2 gt iy i ? (e 7
(B) 2 fean
(E)  srqefor vy :
‘ (D) wfr ey

9| H#

24
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{18 Match List-I with List-II
List-1 (Country)

List-11 (Capital City)

Mauritius

a L Victoria
b. Seychelles il Jakarta
¢.  Maldives iii.  Port Louis !
d.  Indonesia iv. Male R
11 71 et 111 3 | it
HHT-1 (F9T) ' eIl (AU ) -
a  HOTE i, =i -
b. B ii. S Ay
¢. HEEE ! T s N
d  $=efmn R ivi T r~{
Choose the most appropriate option from below:

e 5§ 7aR 307w faaed &1 =999 Fif
(A)  a-ii, b-iv, c-i, d-ii By~ a-iii, b, c-iv, d-ii ON
€)  a-iv, bHiii, c-ii, d-ic

(D) a-i, b-ii, c-ii1, d-iv S 4
(E)  Question not attempted / H{ARA 54 -
119 Rajasthan State Allied and Health Care Council is constituted under .

(A)  National Allied apd Health Care Profession Commission Act - 2022 L
(B)  National Allied agdjHealth Care Profession Commission Act - 202] .
(C)  National Allied andHealth Care Profession Commission Act - 2023 b
(D) National Allied and{Health Care Profession Commission Act - 2020

(E) " Question not attempted

TS 22 S70TS% Uz Rederat IS0l 11159 (79 092 & A fFarmr 8.
(&) 39T SremTsE E Eekrr s I 0E2 - 2022 X
BT R w1ereE iz e S HITE T - 202

(€)' Famrer sremree v REM BT T W= 2023
(D) e sremiE Uz FebT ST SHIT R - 2020
E) smRagg

The Government of India'is planning to imple

lc:hnalngy‘? (Choose the
(A '] -

(Cy
(E)

129

1700«

v
ment a new highway toll
: 3 colle ; e -
b Sppbbpriarc POt aﬂ‘?n SYstem based on which
Near Field Communication (B) i
Radio Frequency Identification (D)

Global Na\'igalin
Question not attempted

n Satelljte &
Barcode Scanis ite System

e

e e s Blihis ’*ﬁ"“'* Atz R
® . I A z
1) ‘i; Hafm ug = )
Ty
ke 15: hns;.. DRD(? condbeled a successful test Right of e Indj 5-:
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122 Todgarh Raoli Wildlife Sanctuary 1S located in 7

A) West Bengal (B) Chhattisgarh
\4 ¢sl Bengs
ssam
(C) Rajasthan (D) Assan
(E) Question not attempted 5 .
SreE Tae 9 AE TR ¥ furd 2
(A) TfEm T (B) ®BHETe
ey T (D) 3Ed
(E) STwia 94
123 Who has been appointed as the New Chairperson of CBSE, in March 20247
(A) Rahul Singh (B) Vinay Kumar

(C) Subodh Kumar Singh (D) Navneel Sahgal
(E) Question not attempted

rdh 2004 . 1, o, T, %, 35 7 TR o5 02 R foRRY TR feke T

(A) Tea e (B) fa
ey~ g AR e (D) =a-Ta "qeTe

(E) HWRG9A

124 Who became the first Indian to win a'match in a Masters 1000 Tournament on clay courts?
(A) Nitin Kirtane (B) Sumit Nagal
(C) Sagar Kashyap (D) Ramesh Krishnan
(E) Question not attempted
= (fordh) #1é § A 1000 T H By Sfier ATel WHH WTGATS i B2
(A) / e fome (B)  HiHd AW
ey AR FE (D) i Fo
(E) dha u4 i
125 /*P"is the centre of Circle, A t 1 i
. . & tangent 15 drawn which touches the circle at *M”* M = 70° gt
is the measure (in degrees) of 2 DMR 2 e JIf Z BPM = 70°, then what
U, 34 &1 @2 P 7 U5 B3 Gt s 2w - -
5 T TSI ST B = ? /
T 9 1 M 9 &9 &l 81 afg £ BPM = 70° 2, a1 £ DMR &
B n
M "
(A) 600
'.('.1 S (B) 70°
(E) Qllﬂ'hlmn not ililltmp'lud i W‘H " "('m-' 552
! Rl 57 =
126 1f cosec B 4
CY+cotO=m, they find the vay r m? -
P =, COl m—
A= Cosec O + coth = m % 'l]i-_l_ m? 4
j,;r‘)/ cosB m2 4 il qn':ﬁ?!‘:ﬁhm:’l
() tan
: (B) cosecH
(E) Question noL ny .
ey . T
9| # npted/ et vy (D) RLRIAS
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i1 If J80 4 6+/5 =22.35, then what will be the value of 1\/: ++/1257 ‘
ufHM-bJ?-EZ.JS ﬂ,l_ﬂ}\l,_;.: J125 ?TWW?TTTT" -
|

g 7.88 (B) 22.88 :
(C) 25.88 (D) 16
(E) Question not attempted / nﬂiﬂ‘ﬁ?{ A

128 What is the difference of Median

and Mode for the given data?
nmmmmhmmmqwm?

90,94, 52, 68, 80, 94, 52, 65. 87,90, 70, 52

(A) 25 (B) 27
© 29 AP 23
(E)

Question net attempted ﬂa?rﬁ?{ e

X, P 3 3
W I —+= =1, thei}> + 13 — i
ey -
e X ] 3 3 [
MRSt i e 2 L PR
¥y X
(A) 1 (B) =i
(Cy 3 (D) o
(€}  Question nat attempted / HTTRT HH
W T o I TS
| what € Value of | ||\g? Fug4 72 logg 72 ] '
[ | JEE]
AR =1 g e — £
{ %72 " flog, 72 * logg2 i 1 & N
(A) | : (B: 2
1y 35 ~ (D) o
. lehun nokattempted / ST 757
|

'1 given figure, if PQ || RS, £ZQPE=128°and / PE R=14ge

+then 2 SRM 19 Equal 1o:
: :
if:“mn 72 PQ || RS, ZQPE=128°Td ZPER

_I-J.\qo.ph ’—/SRM T ? 1
|
[
A -
LT | .
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| 9go = Uy
| (D) gao
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_ordinate axes is:

1x-3yt6= 0 and the €O

- ¥ aua s aline 2 .
rea of a triangle formed by a i (B) 7square units

‘ti‘:’::r:f::m (D) 3squarc units
Question not attempted : : .
2y 3y +6=0 FTT SaEEIED yﬁ%mﬁﬁﬁﬁgﬁ;aﬂm%
) AT o1 LEdL
y e (D) 3R

) e v |
ake the given statements 10 be true even if they seem 10 be at variance from commonly known facts.
‘hen decide which of the given conclusions logically follows from the given statements.

statements:
No paper is car.
All cars are marker.
Some markers are erasers.

Conclusions:
1. Qome CATS are erasers is a possibility.
[I.  Some papers are markers.
(A) Only conclusion 11 follows,
\ (B) Both conclusions [ and IT f
(C) Neither | n /s gy Qi
either 1 nor Il follows. (D) Only congclusion I follows.

lﬁ; Question not attempted
o S T T T 3R ST T qe § STt . A
oA st = R A 5 T STt &1, 36 Tt A<t faw m et § wad
Y
FTE TS FLAR B
T T WL £l
5 W . () Bl
ﬁﬂ’ﬂi:

L &S WS () TN R A 3

0 T T AT B T8 T )
(A) ﬁ;ﬁﬂﬁ‘iumm;k
(C '
m‘. 3 \ﬁ:ﬁnmmm AV e | v (1 2

i (D) e Frerd | 3 ST L B

SR Ty 2y

134 In acertain
code, *
ey 23 2 .he made good Money*
€ money” is written as ‘974 1S written ag *
the code for ‘some"? 876", ¢ s '1465°

o Rifre s 3
FIEH ‘he mad:goﬁd »

» “he must b

St be ¥
S good’ is Writt
1S written en as ‘9421°, ‘muslt

good Save
Erace’
as ‘2483 Wh:
83'. Which of the following 15

“must save some money' ney' &
= = y' F 0876 LI s
e # & d maig g"'fﬁmmm'{ﬁ frar s e -
A Lauiy] g , ‘he must be
£0od sy L good" =y +
) 9 € grace’ & 2483, 9421 " Ty 5T &
(E) OQues . %r@-r
135 What will be the e Ped/ B) & # ‘some’ & fetC
» j
i 3 f‘itftw“numh'"mhtf o8 ™) s
?ﬁ'm.w 85,7 mwﬁ;“nwmg_.
AV 2 : el
1y i
(E)  Quem
MG mon, gy
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“1[111-" 9
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i =) eggs but I haven'tgot ____
= (A} any, some
)  few, a little "
:; ) ‘tt Question not attempted
B T - e -1 A e I
A1 (377 7o)
8 mmaﬁnqﬂi‘
b, Forea i 7y A€ &
c. WA e ® :
d. i e oy e 6 A B
*ahmfam it gratfi 374 FACAE
T asIV,b-Le-n,d-1I
. ) s-llLb-Le-1Ld-1V
P:T'O' \Lil . . =
ﬁ 29

«pivot Table" is a feature of which of the following software?
(AY  Microsoft Word

(C) Microsoft Powerpoint

(E) Question not attempted
e o & Form g Y o fardar fime 2aer @7
(A) WTEShHIETR 93
(C) WIEEIETGE TTaTTE-2

(E) i we
{7 Which of the following is an Input device?
(A) Printer
(C) Visual Display Unit
(E) Question not attempted
Fretftfra & 3 ot g e 2
(A) T
(C) ﬁﬁjﬁ-ﬂﬁ et “-I;Ic-l'd
(E) SFafa 9
138

(E)

% Choose the most appropriate

He looked at me with

A x.a

O —"the, x

(EY

Question not attempted

Question not attempted

ﬁ:gﬁﬁ—r:w

" Choose the mios? appropriate option to fill in the bl

Ineed to buy

(B
(D

y  Microsolt Access

) Microsoft Excel

(B) WTEARIETTR U
Dy TR THTTE T

(B) Mouse

(D) Speaker
AB)

(D) wdiET

ABT
(D)

option to fill in the blanks:

horror when 1 explained that I was __

(B)
(D)

ank:

(B)
f_l) )t

|
1
1l
1V

(B3)
(D)

~ Ctrl - Page Up
Ctrl + Shift -+ Page Up

the, the

i, i

_Mmoney to pay for them.

all, little

S0me, any

HaTaTy
r!.l":rﬂ :
ATHTe
el

] =
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8- |,|'l-||.L'—1V.|I - 111

Which of the following command of Excel will take you to the previous sheet of the work book?
TR F fneferiad § § w1 G FH1 ST = e 1 et #fiz 90 & smom

(A)  Alt+ Page Up
(C) Tab + Page Up

__double agent, (x = blank)
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d Grandmother of

144 Rakesh is‘;m of Aman’s father’s sister. Sonu is son of Disha who 1s mother'ofl Gopal an

Aman. Aaray is father of Tanya and grandfather of Rakesh: Disha is wife of Aarav. How ;s Rakesh related to
Disha? 3 o
(A) i (B) Nephew g
(©) Coln (D) Grandson P
jon not atiempted >
mwmﬁmmﬁ%\@mﬁmm ::

2 s by rivarer st werr St & SCHT B
ﬁmﬁﬁmmm%tmaﬁﬂﬁmmmmm%wmm awih .
(A) ST (TS =

(B) TSI (Wefi=T)
tC) aimmmﬁ ) i {;m /
o™
145 From en options select the box that can be =
fi
Ogﬁaﬁﬂﬁmwmwmm:ah oty v sheet@own in fig (0.
ri o ferd 3 = O C'.'I

ion not attempted /
qﬁ;m‘_ %“
(A) s+ o

w e
® i am

™) #
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(D) -ﬂl 27
(E) 3wt 94
148 Which one of the following west flowing rivers has the largest catchment-area?
(A) Periyar (B) Sabarmati
(C)  Bharathappuzha (D) Mahi
’ (E) Question not attempted
|| S Sy . . - T ~ < g
i FeTREd = 8§ =i i afem £ 31 e aref 72t &1 g8 wey sremaora 29
(A) ufEm (B) ®rETwEdr
(C)  wag _APTT A
(E) sHmitawa
| 49 Mushroom rocks, shifting dunes and playas are features of which of the following regions of India?
(A)  The Coastal Plains (B) The Indian Desert
(C)  The Peninsular Plateau (D) The Island
(E)  Question not attempted
A I, FAT A A s v F R feha 59 oy sy e &9
(A) wiatem -‘fﬁfﬁ_'l]l’_ﬁ' T 6o
C)  mrddEg gan (D) * g
(E) Srafm g
L, :
hanchcruungu peak is situated in which of the tollowing Tegions 6 Hifg]
AL : Imalayas?
A} Arunach: |H av .
( ™ (B) Himachg| and Uttarakhand Himal
(C) Kashmir ”“'ll'1|i1\ e A Imalayas
alayn (D) “"‘UL‘L‘h
ne s e, .
E) " Question not altempted '8 nd Sikkim Himalayas
L =F Croar € . S o N T
T v femrer 3 et & i frg & 7 fearer 30
Ay e frmren By fon
i : (H) {1} =
- R - T —. s ”?'mmmﬁmm
P.T. =T =
: ly, ) ST st 3 ffrrm fimmery
' #
31

Kolleru lake 1s situated in which of the following states of India?
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(E)  Question not attempted
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